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QUESTION 1

What is the throughput penalty of Security Group? 

A. Depends on the type of Appliance 

B. 1% per member 

C. 10% per Security Group with no relation to the number of members 

D. 5% per member 

Correct Answer: B 

 

QUESTION 2

Complete the sentence: Dual Orchestrators work as.______ 

A. Load Sharing cluster 

B. Active-Active cluster 

C. Active - Standby cluster 

D. Hot-Swap RAID 

Correct Answer: B 

 

QUESTION 3

Multiple SGs can exist in a Dual Site environment. Each SG can be configured in one of three ways. Which is not one of
those ways? 

A. Two MHOs connected to two MHOs via load balancers. 

B. Two MHOs at same site connected to remote site MHOs via two different switches. 

C. Two MHOs at same site connected to remote site MHOs via single switch. 

D. Direct connectivity between Remote Site MHOs. 

Correct Answer: A 

 

QUESTION 4

Which command do you use to find bottlenecks in the system that are affecting performance, even functionality in some
cases? 

A. asg stat -v 
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B. asg diag verify 

C. asg perf -v 

D. asg monitor 

Correct Answer: C 

 

QUESTION 5

There are two 10Gbps dual-port NICs and one 40Gbps NIC installed on a 23800 Appliance in slots 1, 2 and 3
accordingly. Which interfaces should be connected to Orchestrator 1 for downlinks\\' intra-orchestrator redundancy
when using two Orchestrators? 

A. Port 1 in Slot 2 and Port 2 in Slot 1 

B. This configuration is not supported 

C. Any pair of available ports 

D. Port 1 in Slot 1 and Port 2 in Slot 1 

Correct Answer: D 
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